uoboboobooooooood

m 2013/9/90 O

pivO 100 4000 — 0O 250

OO0 pd4S00000 -0000

000 pl4900000 - 0000

pd508 4200000000 »D0OODOO

p.1030 700000 81,0 820 - 0000
pll30 000000 gnggg

pl260 200000000 - 000000
pl2700 10000000000 -0000
pl4908 7800000000 - 0000

pl490 000000000 -0000000000
p.152000 NOPM O — O NORM, TPUEDO — O TRUE
p.178 0 O O cocircular 0 — O cocyclic

plo5 0000000000000 -00000000
p.272 0 Chielman O — O, Lehmann

m 2013/9/200 O

p560 9000000000 D0000DDDOO0OODO f(X)=ae™ (x>0 0000
p56 00 200pS570 000000000000 OOOOOO —AxOOOO

p560 7000 Fx(X) =---0 -0 Fi(=1e200F0000 XO

p650 3, 7000 xX2+---0 -0 x2—---

p650000 Cov(X,Y)=p-1 1=p

pl5l10 600000 —-0O0O

p.15500 5) 0 digler 0 — O Stigler

p.2790 3000 =R OO0

p3020 6000000 —-0O0OO

= 2013/10/20 0 OJ

pd730000 7000 SSOODOD -0 ENODO YOy 0000

p.1750 5000 2000 =000000I0’00000000b0000DO0o0bO0O0oOoooOoOoo
p2680 000 3000000000000 -000O

m 2013/10/27 00

p680 5000 Y=EY)O -0 YO E(Y)

p.680 6000 E(X)-E(Y) T — 0O E(X)E(Y)

pl430 000 2000000000000000000 E=f-f-j/n000D00OOOO

pl4400 - 0000000 pl44O0000http://wiw.gmss. jp/e-stat/matsu/index.htmlO 000



O00o4000000000
p.2030 6000 X1 O — O Xqp2
p2190 0 M 00000000 - 000000O0DOOO

m 2013/11/1100

p.350 0000 N(1,22) 0 — O N(0,22)

0000050000000000()00000000 20000000 (2,3)0000

p3éfd00C00C0O0O0O0O0OOO00obOUULoOoOUOooog

1020000000010 30000 200020 30020 2000000000 10 300 100
gogd

p.3100000 1600 CHarddO — O Cramér, H.



